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Intro

Today we will 7"va learn 7" 97 of m2in2 Noon
Some of the topics we will learn about include.

The 7 in the case of our mwn in the case of NIWH "7

An explanation for the reason for why SX'5>13 123 rules
nnRI and why Ywin °27 rules NanRI 7R, which will
explain why in a similar case SX*>13 127 rules NanRI TR
and ywi "7 rules MinRI

3 opinions regarding the 17 in a case where a person is
accused of being a pn3, 7w or 551 and he remained silent
and didn’t protest the claim

A mwn with a case where ywiry °21 will rule ninxi

M DN

A situation, such as 13, which had initially existed, is
Halachically considered to have remained continuously
until the most recent known change.
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A case where a person is accused
of being apny How or bon
and he remained silent
and didn’t protest

MW PN 29

NINNKR]

2N NPTN

Kesubos 14-1



T HIMAND

Dedicated By:

So let'sreview ...

The Mishnah in the previous Daf taught;

inghi}oRyisky

32 HW 120 0 12 1R

If an unmarried woman was seen to be pregnant, and they
inquired about the status of the father - And she
responded;

NI77 17191 050 WR

He's a person who is 7mn»

TIPRI DR TYHOR 2 HROMA 127

She IS believed, because she has a ipin of being nvw>
nnos.

IR 7PON R MR YWIT 12N

TP PHIS NYWYH NP0 ROR

279 PRI NANW TY

She is NOT believed, because, since she acted inappropri-
ately she has lost her npin, and we must be concerned that
perhaps he was a Pn3 or a i), who is MOX to marry her,
and she becomes 1117125 9109 and her child will be ox
5npa Ra5, disqualified to marry a SR,

Our q7 begins with Sxmw ruling like X512 127 that nanxa.
However, if

mOYR DWW N

She may marry a Kohen 1>nina%. And if

YR Y100 217

Then n>nn35 she may not marry a j7o.

However, 72v°72 if she already married a 175, they may
remain married.
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Kohen -nbnnob

Kohen -nb>nnob

However...
T2V T2 if she already married a)n2
they may remain married
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. The X2 proceeds to cite a mywn in N7 which discusses a
case of
oy T NN moY NaabN
1Ch mean a woman whoSse€ 1ormer nusoand was a PDU
55m, which if he was indeed a 551 she is "'ZJ)D o )D{’)) DYDI)\’)) Awoman whose former
2395 75100 N1 JN2)1 J1DD IR husband was a 55N poD
In that ca.seb . — SaomIgEn penm ey SxbmiEn pe e
YUY 227 1s S and says that she is \ \ N N
om s ooy mmn " e
And ZN’:DJ 127 is Ponn and says that she is i) .'l'?\t:b n"’og naYa
hin=plplich)
Which is the exact opposite of the n»5mn here regarding nnn:" nnn:" ﬂl\ﬂ:‘? nnn:"
m2wn where SX'Oma 127 is the Sp°» and says T‘M W W
Annod nYw) 0 Ther
And ywi 217 is the 7pnn and says There ¢ Lo°

WG a 25 / @b no 25 /.7’)'()0

b oo

The X1 explains

In the case of 1oy NvHX there is a R0 Pov, which v

explains is not the traditional X900 oo, but rather means

that the oo did not begin with the 512 but with the

mother of the Y»12 who was a 1551 790 and therefore

70°» MInHR is considered a weaker o0

Therefore ywir 217 is Y and says 11> 77w> because of

the 7’00 poo even though there is no "2

Whereas in the case of n721v» he's 7n» and says 7109
. nnmo5 because there’s no 1’90 poo even though there is a

M

On the other hand, X513 127 in the case of MW is Ypid
and says 71135 77w because there is a ™11 even though
there is no 7’00 PoOO

Whereas in the case of 70°y bR he’s ¥ and says
Anno5 9100 because there is no ™13, even though there is a
12’00 oD
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. The 3 proceeds to elaborate on the case of oY NaKHR
and cites a 3 way nponn
In a case where one was accused of a :109 of
55m1,07951 M7V, I, NN
1. The xi3p Ran holds In a case where one was accused of a )b of
2100 w1 9 177 9100 5O 55m D5 Tam PN DTHD
In any of the above accusations if he was silent he is 109 ' : '
because his silence is seen as an admission

MOYY RIS

MPON 12 pae 139

é'_m . ;;hsgjsg:r_f]‘_lon of X127 holds R 137 DS R 137 NP NN
oS 1t pAn b 2 - ke
That only in the first 3 /5109 if he was silent would he s brpa o on Pt o 1T
become 5109 because only there is his silence seen as an only in the first 3 ‘7105

admission, because the 5109 would make him X215 710K 5‘7“ e (7:8 Tt ip seoma

5npa and if it was untrue a person would certainly protest I admissi

But in the case of 55r even if he is silent he does not '7‘7!'! pine '7:& w2 p adindaion

become Y109 Pl

His silence is not seen as an admission because this 5109 ,// roiopt gl

does not make him 5772 X35 Mo and therefore a person /)7

would not necessarily protest P2y

3, PR 727 DN NYOR 12 W 27 holds the opposite Therefore there iy a need ty protest

That in the case of 7n if he was silent he would not . . .

become %109 because his silence is not seen as an admis- AWM /a[é W believe the accusation

sion because

DIPYIW DD IR’ PIID

non is generally public knowledge and there is no need
. to protest because people know it's not true

However in the case of Y5nif he is silent he becomes 5109

because his silence IS seen as an admission

Because

oraw YR Yo PR

m5Snis generally not public knowledge and therefore

there is a need to protest because people might believe the

accusation
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